

GTS Technology Solutions, Inc. 9211 Waterford Centre Blvd Suite 275 Austin, Texas 78758 Phone: 512.452.0651

## **QUOTE**

Quote Number:
Quoted Date: 10/24/2024
Expiration Date: 11/29/2024
Account Exec: Ashley Ambroso
Inside Sales Rep: Jed Rhodes

jed.rhodes@gts-ts.com

(512) 681-6219

Terms: NET 30

#### **QUOTE FOR:**

Williamson County

FZ-40	FZ-40 Build									
LINE	ITEM	DESCRIPTION	SPECIFICATIONS	CONTRACT	QTY	PRICE	EXTENDED PRICE			
1	FZ-40EZ-0BBM	Panasonic TOUGHBOOK 14" FZ-40	Specs: Win11 Pro, Intel Core Ultra 5 135H vPro (up to 4.6GHz), AMT, 14.0 FHD Gloved Multi Touch, 16GB, 512GB OPAL SSD, Intel Wi-Fi 7, Bluetooth, 4G EM7690, GPS, COM Splitter, Quad Pass (BIOS Selectable), Mic and Infrared 5MP Webcam, Standard Battery, TPM 2.0, Emissive Backlit Keyboard, Flat,	DIR-CPO-5225	70	\$ 4,313.10	\$ 301,917.00			
2	FZ-VSC401UIS	Pre-installed Insertable Smartcard xPAK for FZ-40 Right Expansion Area		DIR-CPO-5225	70	\$ 128.10	\$ 8,967.00			
3	FZ-VEB401U	Panasonic Desktop Dock For Fz-40	Usb-A (3),Usb-C (3),Hdmi,Serial,Lan (2),Kensington Lock,Led,Power Button. Includes One Front Usb- C,Two Video Out (Hdmi + One Usb-	DIR-CPO-5225	22	\$ 375.41	\$ 8,259.02			



Quote Number:

C),Rear	Usb-C A	Are 10Gb	ps And	1.5A.
---------	---------	----------	--------	-------

4 HA-40LVDA0L DIR-CPO-5225 38 \$1,060.51 \$40,299.38

Panasonic Havis Premium Vehicle Dock (no pass) for Panasonic TOUGHBOOK 40. Includes LIND power supply. USB-A (3), USB-C (3), HDMI, Serial, Ethernet (2). Includes diagnostic LED, one front USB-C, two video out (HDMI + one USB-C)COM

FZ-55	FZ-55 Build									
LINE	ITEM	DESCRIPTION	SPECIFICATIONS	CONTRACT	QTY	PRICE	EXTENDED PRICE			
5	FZ-55J2-00BM	Panasonic FZ-55 Toughbook	Specs: Win11 Pro, Intel Core i5-1345U vPro (up to 4.7GHz), AMT, 14.0" FHD 1000 nit Gloved Multi Touch, 16GB, Intel UHD, 512GB OPAL SSD, Intel Wi-Fi 6E, Bluetooth, 4G EM7511, Dual Pass (Ch1:WWAN- GPS/Ch2:WWAN), Mic and Infrared 2MP Webcam, Standard Battery, TPM 2.0, Emissive Backlit Keyboard, Flat	DIR-CPO-5225	14	\$ 2,997.99	\$ 41,971.86			
6	FZ-VNF551WIS	Pre-installed Contactless Smart Card xPAK for FZ-55 Mk1, Mk2, Mk3 Right Expansion Area		DIR-CPO-5225	14	\$ 126.82	\$ 1,775.48			
7	HA-55LVD0L	PANASONIC : HAVIS DOCKING STATION WITH LIND POWER SUPPLY FOR PANASONICS TOUGHBOOK 54 AND 55 RUGGED LAPTOP		DIR-CPO-5225	10	\$ 795.89	\$ 7,958.90			
8	FZ-VEB551U			DIR-CPO-5225	7	\$ 381.11	\$ 2,667.77 Page <b>2</b> of <b>5</b>			



Quote Number:

PANASONIC : DESKTOP DOCK

FOR FZ-55

USB-A (4), HDMI (2), VGA, SERIAL, LAN, KENSINGTON LOCK, POWER BUTTON. NO AC ADAPTER INCLUDED

FZ-G2 Build								
LINE	ITEM	DESCRIPTION	SPECIFICATIONS	CONTRACT	QTY	PRICE	EXTENDED PRICE	
9	FZ-G2EZ-0BAM	Panasonic FZ-G2 Rugged Tablet	Win11 Pro, Intel Core i5-1245U vPro (up to 4.4GHz), AMT, 10.1" WUXGA Gloved Multi Touch+Digitizer, 16GB, Intel Iris Xe, 512GB OPAL SSD (quick-release), Intel Wi-Fi 6E, Bluetooth, 4G EM7511, GPS, Dual Pass (Ch1:WWAN/Ch2:GPS), Mic and Infrared 2MP Webcam, 8MP Rear Camera, Standard Battery, TPM 2.0	DIR-CPO-5225	5	\$ 3,293.15	\$ 16,465.75	
10	FZ-VRFG211MIS	Panasonic - PRE-INSTALLED CONTACTLESS SMART CARD READER XPAK FOR FZ-G2 REAR EXPANSION AREA		DIR-CPO-5225	5	\$ 161.09	\$ 805.45	
11	FZ-VEKG21LM	Panasonic Keyboard For Fz-G2	Emissive Color-Selectable Backlit (4 Levels). Handle/Kickstand. Usb-A, Usb-C, Kensington Lock.	DIR-CPO-5225	5	\$ 600.16	\$ 3,000.80	
12	DS-PAN-1012	Docking Station For Panasonic TOUGHBOOK G2 2-In-1 With Advanced Port Replication &		NO CONTRACT	1	\$ 875.94	\$ 875.94	





#### **External Power Supply**

CF-33	CF-33 Build								
LINE	ITEM	DESCRIPTION	SPECIFICATIONS	CONTRACT	QTY	PRICE	EXTENDED PRICE		
13	CF-33TZ-0LAM	Panasonic CF-33 Toughbook	Win11 Pro, Intel Core i5-1245U vPro (up to 4.4GHz), AMT, 12.0" QHD Gloved Multi Touch+Digitizer, 16GB, Intel Iris Xe, 512GB OPAL SSD, Intel Wi-Fi 6E, Bluetooth, 4G MLP31-W, Dual Pass (Ch1:WWAN/Ch2:WWAN-GPS), Mic and Infrared 2MP Webcam, 8MP Rear Camera, Contactless SmartCard, Barcode, Standard Batteries (2), TPM 2.0, Flat	DIR-CPO-5225	2	\$ 4,525.92	\$ 9,051.84		
14	CF-VEK335LMP	Premium Emissive Keyboard for CF-33 Mk3	(not compatible with mk1/mk2 tablets). Red Backlight (4 levels). USB-A 5 Gbps, USB-A 0.5 Gbps, HDMI, VGA, LAN, SDXC (full-size), Serial (USB), Power, Docking Connector, Kensington Lock. Includes Handle/Kickstand.	DIR-CPO-5225	2	\$ 569.50	\$ 1,139.00		
15	CF-VEB331U	Panasonic Desktop Dock For Cf- 33	Requires Premium Keyboard (Sold Separately).Ethernet (2), Hdmi, Vga, Usb 2.0 (4), Usb 3.0 (2), Serial, Power, Docking Connector, Kensington Lock, Release Lever And Power Button. No Ac Adapter Included	DIR-CPO-5225	2	\$ 339.15	\$ 678.30		



Quote Number:

16 DS-PAN-1112

Havis: Docking Station For Panasonic TOUGHBOOK 33 2-In-1 Laptop With Advanced Port Replication & LIND Power

Supply

DIR-CPO-4751 1 \$ 965.00 \$ 965.00

Service	Service Bundle								
LINE	ITEM	DESCRIPTION	SPECIFICATIONS	CONTRACT	QTY	PRICE	EXTENDED PRICE		
17	CF-SVCPSY4	Panasonic 4Th Year Public Safety Service Bundle Add On (Year 4 Only) Must Be Purchased In Conjunction With Ps Bundle Base Unit Includes Premier Protection Plus Customer Portal Disk Image Management Hdd No Return		DIR-CPO-5225	91	\$ 323.33	\$ 29,423.03		
18	CF-AA5713A2M	Panasonic Ac Adapter (100W) For Fz-55, Cf-33		DIR-CPO-5225	18	\$ 67.67	\$ 1,218.06		

Prices do NOT include taxes, insurance, shipping, delivery, setup fees, or any cables or cabling services or material unless specifically listed above. If a customer requests expedited or special delivery, causes carrier delays or requests redelivery, customer will be responsible for any additional charges for these services directly billed by the carrier. All prices are subject to change without notice. Supply subject to availability. Dell maintains a strict zero-return policy. Therefore, purchases of incorrect quantity, specifications, items, or configurations are non-refundable and non-returnable. Please ensure that you have reviewed your quote thoroughly.

\*\*This quote does not include the applicable sales tax for our commercial customers\*\*

 Sales Total:
 \$ 477,439.58

 Freight & Misc:
 \$ 0.00

 Tax Total:
 \$ 0.00

 Total (USD):
 \$ 477,439.58